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THE

GENTLEMAN AND FARMER'S

POCKET COMPANION
AND

ASSISTANT.

Though the art of Land-Measuring has been carried to a great de-

gree of perfection, in consequence of the numerous important trea-

tises on it which have been successfully published, and the expensive

and valuable instruments which have been invented for taking angles

and distances, and for protracting and delineating the same upon a

plan or map, so that the extent or area of any piece of land, large or

small, may be had in known dimensions ; yet no Tables have been

published in this country to abridge the laborious calculations of the

Land-measux^er, and to prevent those errors to which such calcula-

tions are always liable. A very great deal of calculation is required,

because the measures hitherto used arc low ; such as links, feet, and
inches, which must be multiplied into one another before the con-

tents can be known: And after the area is got, and the operation com-
pleted, the best of calculators cannot be certain that the work is right

without going over the calculation a second time ; and if these two
o;u'rations happen not to agree, a third, fourth, and frequently a



iiftli is necessary, before the truth can be ascertained. Thus much
time is lost in recalculating and proving the work by long and te-

dious operations.

1. The following Tables, which are intended to save this labour,

will be found very simple, and easily comprehended. To render them

as useful as possible, dimensions, taken in Scots ells of37 inches each,

rather than links, feet, or any other measure, have been preferred.

This will be found very convenient, as most men step or pace about

aH ell ; and the contents of a square piece of land may be ascertained

very nearly by pacing over the length and breadth.

But when precision is wanted, the person who has occasion to mea-

sure a piece of land should get a strong cord, such as gardeners use,

or a piece of tape, 10 ells long, and divide it into ells of 57 inches

each, by marks put upon the cord, orfigures written upon the tape;

and each ell may be divided into halves and quarters, which will

give the measure to the half or quarter of an ell.

The Tables are so constructed as to give the contents of any re-

gular piece of land, from 1 ell in length and breadth to 600, by
addition only ; and, for the most part, when the field is regular,

the labour does not exceed the addition of three or four sums.

It can hardly be supposed that tables can be contrived to answer
• every irregular piece of land, without a great deal of calculation ; yet

the quantity may be known with sufficient precision, for all the pur-

poses of sowing, mowing, hoeing, ploughing, harrowing, dunging,

liming, trenching, planting, &c. by means of them. And they will

be particularly useful to every person who is accustomed to sell or buy
by the acre any quantity of standing grain, turnips, grass, clover, po-

tatoes, lint, &c. They will likewise be found serviceable in ascertain-

ing what to pay labourers for their work when employed by the acre.



and in settling disputesbetween them and their masters; for the tables

are so simple, that the labourers have only to measure the distances,

and the book will tell them the contents.

Several other tables are added, which will be of the utmost utility

to country gentlemen and farmers, &c. These tables are the follow-

ing ; an explanation of each of which will be given in its proper place.

2. Tables for turning Scotch measure into English, and English

measure into Scotch—^for turning Irish measure into English, and
also into Scotch.

5. Tables for shewing the length and breadth required for an acre

from 1 ell in length to 600, and from 1 ell wide to 400 ; with an ex-

planation what width to measure to stake off' any quantity of acres to

any given length, by which the quantity of seed wanted to sow is ea-

sily ascertained.

4. Tables shewing the length of a rood of masonry in a stone dyke
from one inch high to ten feet, by measuring the lineal length of the

dyke only.

5. Tables to know how many cabbages may be planted, upon ground
from 1 fall to GO acres, at 1 foot distant from one another to 5 feet.

G. Tables to know what quantity of forest trees to order to plant

¥pon, from 1 fall to 60 acres of ground, from three feet distant from
tree to tree to six feet.

7. Tables for manuring land, shewing the distance of the heaps,

and the number of heaps made in a cart load, and the number of loads

required for an acre.

8. Tables of slaters and thatchers work, from 1 foot the slant of

the roof to 18 feet, and from 1 foot long to 100, shewing the num-
ber of square yards there are contained in any roof not exceeding the

above dimensions.

k. 9
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9. Tables to know how many thorns or quicksets to purchase for

inclosing ground from 1 ell in length to 10,000, and at one inch dis-

tant from thorn to thorn to ten inches.

10. Tables of interest, from £1 to .^^900,000, for any time, and at

any rate of interest, by a simple and expeditious operation ; to which
is added, a table, shewing how many days there are from any day in

any month to the same day in any other month.
12. Table for turning Scotch chains and links into ells, and also for

turning English chains and links into ells, of 57 inches each, from 1

link long to 60 chains.

13. Tables for turning acres, roods, and falls, into money, from
6d. per acre to ^^1000, and from 1 fall to 60 acres.

14. Tables of solid measure, for finding the contents of any tree

from 6 inches square of the side to 20 inches, and from 1 foot long

to 42.

15 Tables shewing the number of cubic feet there are in a running
yard of cutting, in a ditch or drain from 1 foot deep to 6 feet, and
from 1 foot wide to 6 feet, with directions to know the number of cu-

bic yards of cutting there are in any running length, if not deeper or

wider than the above dimensions.

It would be presumption to say any thing more in favour of these

tables, than that every method has been studied to make them com-
prehend a great deal in very little room.

That the use of the first tables may be easily understood, a few
directions will be necessary, in order to explain the method of taking

the dimensions in the field.

Land in Scotland is generally estimated in acres, roods, falls, and
ells. There are 56 ells in 1 fall, 40 falls in 1 rood, and 4 roods in



I acre; consequently, ifyou have any sums of acres, roods, falls, and

ells, to add together, you must carry 1 for every 56 ells that you have

from the ells to the falls; if you have twice 36, or 72, you must car-

ry 2; if you have three times 36, or 108, you must carry 3; and so

on : but always set down the remainder in the column under ells. In

adding up the falls, you must carry 1 to the roods for every 40 falls; if

you have twice 40, or 80, you must carry 2 to the roods; if you have

three times 40, or 120, you must carry 3 to the roods. In adding

up the roods, you must carry 1 to the acres for every 4; if you have

twice 4, or 8, you must carry 2; if you have three times 4, or 12,

you must carry 3; and so on: and always set down the remainders

under their respective columns. Two or three examples will make
the whole plain and distinct.

Example I. Example II. Example III.

A. R. F. E. A. R. F. E. A. R. F. E.

9 --_ 25 20 — 3 8 5 10 2 20 18

5 3 — 35 6 2 18 10 12 3 32 IT

10 3 9 30 8 1 12 16 15 2 16 12

25 2 36 13 15 2 38 51 59 — 29 11

To the greater number of readers these directions will appear su-

perfluous; but it is not every person that may be in possession of the

Tables who can remember how many ells ther« are in a fall, or how
many falls there are in a rood, or how many roods are in an acre. In

the first example you find there are 85 ells, which is twice 56, and
13 remaining: therefore 13 is set down under ells, and 2 carried

to the falls. You next sum up the falls, and you find they amount
to 56 falls, which is set down under the falls ; 36 being less than
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40, there is nothing to carry. You then sum up the roods, which

amount to 6; which being 2 more than 4, you set down 2 under roods,

and carry 1 to the acres. You then sum up the acres, and you find

they amount to 25:—which makes in all 25 acres, 2 roods, 56 falls,

15 eHs.—In example second, you sum up the ells, and they amount

to 31 ; you set down 51 under ells, and carry nothing because 31 is

less than 56. You next add up the falls, and they amount to 58

;

you set down 58 under falls, and have nothing to carry. You next

sym up the roods, which amount to 6 ; which being 2 more than 4,

you set down 2 under roods, and carry 1 to the acres. You then sum
up the acres, and they amount to 15, which you set down under acres.

So that the whole sum is 15 acres, 2 roods, 58 falls, 31 ells. In ex-

ample third, you sum up the ells, which amount to 47; which being

11 more than 36, you set down 11 under ells, and carry 1 to the falls.

You next add up the falls, and they amount to 69, or 29 more than

40; you therefore set down 29 under falls, and carry 1 to the roods.

You next add up the roods, and they amount to 8, or exactly two 4's;

therefore you set down under roods, and carry 2 to the acres. You
next add up the acres, and they amount to 59. Thus the sum total

is 59 acres, roods, 29, falls, 11 ells.—The above is so plain, that

no farther illustration is necessary.

It will not be amiss to give a few directions how to measure a

straight line in the field, as more depends upon it than any thing else.

It will be necessary to be provided with two or three poles, hay-forks,

rake-shafts turnip-poles, or any other long sticks to make station staffs

of, with the tape or cord before described, with ten pins, about nine

inches long, made of pieces of wood (or of iron, which is better), and

with a common ellwand. Let one of your-station staffs be put up

where you begin to measure, and let another be put up where you in-

1
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tend to measure to. The person that goes first is called the leader,

and the person behind the follower. Let the leader take the ten pins

and one end of the tape or cord (or a chain). The follower stands at

the station-staff, and directs the leader to go upon the line, when the

follower directs him to pull tiie cord straight, and to put down one of

his pins at the end of the line, exactly in a line with the pole you in-

tend to measure to. The leader goes on, and the follower comes up
to the leader's first pin, and directs him to put down another pin ex-
actly in a line with the station-staff, and at the end of the tape or

cord. The leader goes on, and the follower takes up the leader's first

pin, and proceeds on to the leader's second pin. The leader al-

ways sticks down his pins exactly in the line, by the follower's di-

rections ; and the follower takes up till the whole of the pins are in

his hands. This is called one change, or 100 ells (which ought to

be marked down). The follower gives the leader the ten pins, and
proceeds measuring on in the same line till the pins are all spent. This
is called two changes, or SOOells (which should be noted down). The
leader takes the pins, and proceeds on as before, till the pins are again
all in the follower's hands; which would make three changes, or 300
ells. But we shall suppose that the leader arrives at the station-staff

between the second and third change; in that case, the follower's pins

are counted, and the odd ells, which suppose is five pins, five ells and
a half (the half ell is measured with the ellwand). You find the
length of the line to be two changes, five pins, five ells and a half;

which should be expressed in your Field-book 2554- ells.

If a person has much measuring, 1 would advise him to get a chain
made ten ells long, and get each ell divided into four links, or a quar-
ter of an ell each link ; which would save the trouble of taking the

ellwand tp the field. However, the ellwand will be found \ery use-
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liii upon irregular and angled ground to take offsets. The person

that makes the chain can put in marks as in the common chains. It

is presumed the length of this chain has many advantages over a chain

that is more than double its length. In the first place, you can see

from one pin to the other, as the distance is shorter. The leader is

always nearer the line; consequently he has a shorter distance to go
till he is upon it. In the next place, there is less risk of the pins being

dragged from the place they were stuck down by the leader; and they

are much easier found by the follower in the field than if the line was
measured with a longer chain. This short chain is less liable to wear,

and not so apt to break, and will cost less money : but a piece of

cord or tape will answer every purpose to a farmer who has only pieces

of his own farm to measure; or if he make regular steps he will come
very near the truth by pacing,

I SHALL now make the whole as simple and easily comprehended
as possible, by annexing the representation of a few figures of the

shapes of land that you may have to measure, and pointing out w^iat

way the dimensions ought to be taken in the field, and the contents

found out by the Tables.

The annexed figure ABC represents a trian-

gular field. ^Measure the longest line from A
to B, which you find to be 610 ells; and in mea-

suring that line, when you are opposite the cor-

ner C, leave a mark ; which mark you go back

to, and from it measure to the corner C; which

you find is 550 ells.

Explanation.—Look at the top of the table

for 505 ells, which is the half of the line AB,
and carry your eye down that column till you
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are opposite 300 ells wide, and down the same column till you ar?

opposite 50 ells, and you \dll find the contents thus

:

A. R. F. E.

Look at the top for f
opposite 300 ells wide is 1.5 3 21 24

505 ells long, and ( opposite 50 ditto is.^^ 2 2 23 22

The sum is the contents,^^ 18 2 5 10

N. B. It will be proper to observe, that the dotted lines across the

field are not fences, but are lines that are measured for finding out

the contents ; and the reason of taking the half of either of the longest

side or the perpendicular is, because every triangle is but half of a

square.

The annexed figure ABCD is the representation of

a square field that is longer than it is wide.

Explanation.—Measui'e the length in the middle

from A to B, which is 482 ells, and the breadth from
C to D, 220i- ells. If you cannot conveniently mea- q
sure through the middle of the field for standing corn,

you may take the length of the lines D and C, and add
them together, and take their half; which will give a

mean length. You may take the length of the line B,
and also of the line A, and adding them together, take
their half for a mean width.

The contents are found thus :

A.

Look at the top for
f opposite 200 ells wide is 16

482 ells long, and | opposite 20,ditto is^^^ 1

Look at the top for 24i ells, and op-
)^

posite 1 ell wide, for the half ell, j
"

F. E.

57 28
27 28

— 6 25

The sum is the contents,. 18 1 52 9
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N. B. The half ell, as before, is found out in the tables by taking
half of the length, and opposite 1 ell wide, is the contents. At any-

time, if you want a quarter of an ell, which will happen sometimes,
you divide the length by 4; and opposite 1 ell wide is the contents.

The adjoining figure is the representation of a
field, which is longer on one side than the other,

marked ABCD.
The contents are found out in the same way as the

last figure, and need no other explanation. But the

exact mit;dle must be found out before you are cer-

tain you have a right length from A to B. If you
are too near D, your distance will be too long; if

you are too near C, your distance will be too short.

The best way to «;et an exact mean is to measure the
^ length of the line D b62 ells, and also the length of

the line C 462|, and add these two lengths together, and take their

half for a mean length, which is ol2^ ells; and the breadth of the

field from C to D is 2o2 ells.

The contents in the Tables are found out thus :

A.

Look at the top for

512 ells lonc^, and

opposite 200 ells wide is 17

opposite 50 ditto is^^^^^^ 4

opposite 2 ditto is^^*^^^

—

—
Then take the quarter of 512 ells, which

)

is 12S, and opposite 1 ell wide is
j—

*

F.

4
31
28

E.

16
4
16

20

The amount sought—..... 22 1 27 20
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The annexed figure ABCD is the representa-

tion of a field that has four sides all unequal.

Explanation.— 1st. Measure the diagonal line P
across the field from A to C, which you find is

622 ells ; and in measuring that line, leave a

mark opposite the corner B, and also a mark op-

posite the corner D : you then go back to ?your

mark opposite the angle D, and measure to D,
which you find 274 ells ; you then go up to your
mark opposite the corner B, and measure to B,
which you find is 166 ells.

The contents are found in the Tables thus

:

Take the half of the diagonal line 622, which is 311, and the sum
of the perpendiculars, viz. D 274 ells, and B 166 ; which is 440 ells.

A. R. F. E.

Look for 511 ells f opposite 400 ells wide is.^ 21 2 15 20
at the top, and ( opposite 40 ditto is^—^ 2 — 25 20

The amount of the four-sided figure sought. "^o 1 4

N. B. It very often happens, that a person who is not acquainted
with measuring would take the lengths and breadths of the figure
annexed, and add them together, and take a mean length and
breadth and multiply (he one into the other for the contents. But
this is erroneous, and gives the measure a great deal too much.
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'op of the Cross Staff-

Those that have not had much practice cannot

judge exactly where to lay off the perpendiculars,

or leave marks upon the diagonals. In that case

it would be advisable to get a cross staff made, if

you wish to be very correct with your measure-

ment, like the adjoining figure ; which any coun-

try wright can make for a mere trifle. The circle,

with two lines sawn across at right angles, about
half an inch deep, is supposed to be the cross at

the head of ihe staff. The diameter of the circle

may be two inches, and the length of the staff a-

bout five feet. This simple instrument will be of

great use, not only in laying off the perpendicu-

lars, but also where you cannot see all the way
from one station staff to another on account of ri-

sing ground in the middle of the field. In that

case, you have only to go upon the rising ground
ti!l you can see both station-staffs, and stick the

cross staff in the ground, and turn it round till

you see one of your station-staffs through the slit,

and then with your eye look in the opposite side

of the slit to the other station-staff. If you are not in a line, you
must shift about till both station-staffs are seen through the slit on the

cross staff. You put up a mark Avhere the cross staff stood, which
mark is in a line with the station-staffs. You then measure to the

mark in the middle of the field, and from thence to the pole or sta-

tion-staff you could not see from where you began. Few instruments

are ofgreater use than thecross stafl'; but being very simple and cheap,

is not much thought of.
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The annexed figure ABCDE is the repre-

sentation of a field of five sides.

Explanation.— 1st, Measure the diagonal

from B to E, which is 462 ells, and leave g /
marks opposite the angles C and A upon the d

diagonal ; you then go back to your mark I

opposite A, and measure to the angle at A, 1

which is 200 ells ; then go to the mark you
left opposite the angle at C, and measure to j)

C, which is 560 : add the length of A and
C togetlier, and take tiieir half for a mean
width, which is 280 ells.

2d, Measure the Hue from C to E, which is 492 ells, and leave a
mark opposite the angle D ; you then go back to the mark and mea-
sure toD, which is 104 ells ; the half of which is 52 for a mean width.

The contents are found out thus : a. r.

Look into the Table for 462 \ 200 ells wide is _.. 16 -1
ells long, and oj.posite to j SO ditto is wv^ 6 1

Amount of that part of the field ABCE 2^^ \

Again, look into the Table for "(50 ells wicje is 4 1

492 ells long, and opposite to j 2 ditto is _
Total amount of (he field of five sides J

The annexed figure ABCDEF is there-
presentation of a field of six sides.

jEx/;/aH^z^/on.-—Measure the diagonal line

from B to F, which you find is 462 clLs,

6

26

53

3
27

E.

24
24

12

12
12

and leave marks opposite the angles C and r, /i.-^" J
A

;
you measure from your mark into the \-''C.'.'

"*

corner A, which is 152 ells ; you then mea-
sMre from your mark into C, which is 142
ells ; you then go to D, and measure the di-
agonal to F, which is 500 ells; and in mea-



18

suring the diagonal, leave marks opposite the corners C and £ ; you
then go to your mark opposite E, and measure into E, which you

find is 208 ells ; you then measure from your mark into C, which you

find is 108 ells.

The half of the diagonal line BF is 231 ells, and the sum of the

two perpendiculars into C and A is 274 ells.

The contents are found thus

:

A. R. F. E.

2 2 8T 1 ^ xi_ X r C opposite 200 ells wide is 9 2
Look at th£ top for \^^^^.^^ 30 ditto is 1 1

274ells long, and
^^{;^^^.^^ 1 ditto is 7 22

The amount of that part of the field ABCF— 10 3 38 6

Then half of the diagonal line DF is 250 ells, and the sum of the

two perpendiculars E and C is 316 ells.

A. R. F. E.

Look at the top for/ opposite 200 ells wide is 10 3 35 20
316 ells long, and ( opposite 50 ditto is ^.^*. 2 2 38 32

Amount of that part of the field CDFE 13 2 34 16

Add the other part of the field ABCF 10 3 38 6

Total amount of the field ABCDEF ^^. . 24 2 52 22

Many more examples might be given of the method for measuring

and finding by the tables the contents of a field that has more than

six sides ; but it is quite needless, as they are all upon the same prin-

ciple. If a field has seven sides, divide it upon the spot into triangles
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and square plots. Ifit has eight, nine, or any greater numher of sides,

do the same. Find the amount of each plot separately, add the whole
together, and the sum is the contents.

It is to be observed, that all the representations of the foregoing

fields are supposed to have straight fences.

It now remains to shew whatway irregular or crooked land is mea-
sured by dimensions taken on the spot ; which is more correct than

any other method yet known. The performance is tedious with the

very best of instruments, and must also be so where no other in-

struments are made use of but a simple cross staff, a piece of cord

or tape, with a few station-staifs and ten pins.

The adjoining figure ABC has two straight

fences and a crooked burn on one side. C
Explanation,—Begin at A and measure to C,

which is 690 ells long. In measuring that liae

take offsets into the burn, at 60 or 80 ells dis-

tant from one another, andmark each offset care-

fully down. Set down where you began, for the

1st offset ells—for the 2d, 12—for the 3d, 0—
for the 4th, 20i—for the 5th, 36—for the 6th,

90—for the 7th, 102i - for the 8th, 90—for the

9th, 62i—for the 10th, 60,—for the Uth, 20,^

—for the 12th, 14 ,—for the 13th, 0. You then

measure your perpendicular from the line AC into the corner B,

which you find is 290 ells.

v\lA

N. B. The distances of the offsets should be all set down at the

places tliey are taken at; but for want of j ooni are omitte<l. Thex^on-

tept of the triangle is found out as described in Figure First, p. 12.

b2



Offsets.
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Fig. ABC represents afield that is sur- p
rounded by a burn or brook, except on

one side, which has a curved fence.

Explanation.— 1st. Begin at A and

measure to C, which you find is 342 ells,

and take offsets as you go on at every

50 or 60 ells ; next measure from C to

B, 278 ells, and take the offsets as you
go on ; next measure from B to A, and

take the offsets as you go on; then mea-
sure a perpendicular from the line AC
into the corner B, which is 222 ells.

N. B. The amount of the triangle is found as described in Fig. 1. p. 12.

The contents are found out thus
Offsets upon AC.

1.

2.

2

3
4.

4.

5.,

5.,

6.,

6.

7.,

7.,

8.,

• V%%'VW%/W^'»^'«

.22I-

,22^

12

12

32
^52
64
64
22
22

23f
23t

OfFsets



The line AC 342 ells, and the medium width 22 ells.

A. R.

Look at the top for f opposite 20 ells wide is 1 — 50 —
o42ellslong, and ( opposite 2 ditto is.^^*^^ 19 —

Amount of the ofTsets*^*^^*^^ 1 1 19 —
The line CB 27B ells long, and the mean width 18^ ells.

A. R. F. E.

L(i6k at the tt)p for f opposite 10 ells wide is — 1 37 8
278 ells long, andj opposite 8 ditto is. 1 21 28

The half of 278, for the half ell, 1 ^ -^
is 1^9, and opposite 1 ell is 3 "^ —^^*^

Amount of the offsets between C and B — 3 22 31

The line BA is 283 ells long, and the mean width of the offsets

18t ells.

A. R. F. E.

Look at the top for f opposite 10 ells wide is — 1 39 16
286 ells long, and\ opposite 8 ditto isv^ .. — 1 23 20

The half of286 ells is 145 for the 7 ^ ^.
half ell, and opposite 1 ell wide is

v-v..-».-v>

Amount of the offsets between A and B — 3 26 35
The amount of the triangle is found thus

:

A. R. F. E.

Look at the top for f opposite 200 ells wide is 5 3 30 —
the half of 542, ) opposite 20 ditto is... — 2 15 —
which is 171, and ^opposite 2 ditto is.....^.. 9 1

The amount of the trianrrle ABC... 6 2 14 IS



Brouglit forward

Add the offsets from A to C
Add the offsets from C to B
Add the offsets from B to A

The total contents

We shall next suppose you have a very

irregular field to measure, like the figure A
annexed ABCD, and that the hedges are

so high that they cannot be seen over.

Begin at A and measure to B, 450 ells,

and take the offsets as before directed

;

then measure from B to C, 4S0 ells, and

take the offsets ; then measure from C to

D, 440 ells, and take the offsets; and then ^-'\

from D to A, 460 ells, and take the offsets

F.

14

9
22
26

18

51

Line AB, 450 EII

1. offset

2.

2.

3.

3.

4..

4..

5..

5.

6.

k-v-»-»^^-v-v-».-»'v

.*-WV*»^'»^VV^'» 1

^
^ 80
^ 80
.. 75^
.. 751
.. 96|.

96^
lOOi

Line BC, 480 E\U.

offset 1 10

74!-

74

10)779(78 mean,

1

2.

2..

3..

3..

4.

4.

5
5,

6
7...

V%»^-%^'«^WWV«

74:-

521
52i

60^

60i
521
6^1

.... 0^

()_

12)590(49 iiK'^M



24

Line CD, 440 Ell?. Line DA, 460 El is.

1. offset . 50 1. offset .^.
2 ™ 40 2 .^.^^ 60

2 ™ 40 2 .^^...^^^60
3.^^^ ^^42^ 3 .^^^.^.^^62
5 42t 3.^^ ..._^62
4....^ ^^ 4.^^^^.^^^--^
4.^.^.^^^* 4.^.^...^^.^.^-
5.^^^^^...^_15 3 ^^.^ 15t
5 _^ ™15 5 ^. 15t
6 . 6 . ^

10)225(22f mean. 10)275(27t mean.

The contents of the offsets found thus :

The line AB 450 ells long, and the mean width 78 ells.

A. R. F. E.

Look at the top for C opposite 70 ells wide is 5 1 35 —
450 ells long, and ^opposite 8 ditto is^^^^^ — 2 20 —

Amount of the offsets between A and B 6 — 15 —

The line BC 480 ells long, and the mean width of the offsets 49 ells.

A. R. F. E.

Look at the top for <^ opposite 40 ells wide is 3 1 13 12

480 ells long, and '[ opposite 9 ditto is^^^^^ — 3

Amount of the offsets between BandC 4 — 13 12
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The line CD 440 ells loni(, and the mean of the offsets 22|- ells.

A. R. F. E.

Look at the top for f
opposite 20 ells wide is 1 2 4 16

440 ells long, and) opposite 2 ditto is 24 16

The half of 440 ells is 220 for the
) g ^

half ell, and opposite 1 ell wide is j
"^^"""^"^

Amount of the offsets between C and D 1 2 35 —

The line DA is 460 ells, and the mean width of the offsets 27i ells.

A. R. F. E.

Look at the top for J opposite 20 ells wide is 1 2 15 20

460 ells long, and\ opposite 7 ditto is ^ — 2 9 16 .

The half of 460 is 230 for the half
? 5 14

ell, and opposite 1 ell wide is 5
"^ ^^

Amount of the offsets between D and A 2 — 31 14

The amount of the square ABCD is found in the tables by adding

the length of the line AB and CD together, and taking their half for

a mean (which is 445 ells in width), and the lines BC and AD added

together for a mean length, which is 470 ells long.

The contents are found out thus

:

A. R. V. V.

Look into the top for 445 7 400 ells wide is 50 3 24 16

ells long, and opposite to 5 70 ditto is ^.^.^^ 5 1 25 10

^
' Amount of the square ABCD—.—. 36 1 9 26

The contents of the square may also be found out by taking a dia-

gonal from A to C, and measuring perpendicular lines from the dia-

gonal into the corners of the field at B and D ; take either half the
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diagonal and the sum of the perpendiculars, or the whole of the dia-

gonal and half the sum of the perpendiculars, and find the contents

out as before directed by the Tables.

The whole must be added together, and the sum is the contents.
A. R. F. E.

Amount of the square ABCD^ ^^^^^^^^^ 56 1 9 26
Ditto of the offsets between A and B^^^^^*^ 6 — 15 —
Ditto ...^..B and C 4 — 13 12
Ditto ^^. C and D^.^ 1 2 35 —
Ditto ... ....—D and A........ 2 — 51 14

Total amount . 50 1 24 16

From perusing the above method of fin'lingthe contents of the oflf-

sets, it will appear very troublesome to a learner, although very simple

to a person in practice. (It is equally troublesome v/ith the very best

of instruments). But as the representation of the fields have been gi-

ven, ard the calculations detailed at full length, a little attention will

enable any farmer to measure the whole or any part of his farm, al-

though ever so irregular, and with very great accuracy. It was not

intended, when this Work was begun, to go further than to shew the

method of making a near guess ai the contents, by taking a medium
length and breadth, either by pacing the ground, or measuring it with

a tapeor cord. Even this must have been very satisfactory and eiiter-

taming, by enabling a farmer to know how much land was plough-

ed, harrov* ed, sown, or cut down in a day ; and thence to calculate

what time the wlwie would take to finish, that he might know whe-
ther to employ mere or fewer hands to assist him to get all finished in

proper time, i ut it wa^ thought, if methods could be fallen upon to

givethe contents quite correct, it would be a great acquisitipn. Hence
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the reason of introducing the last examples, where offsets must be ta-

ken in the field with care. Those that will not be at the trouble of

taking every offset, as before described, may have recourse to another

method, when the boundaries are supposed to be very irregular, and
the fences of such a nature that they may be crossed and recrossed

with little difficulty. This method consists in taking in as much from
the surrounding fields as you leave out of the field which you are mea-
suring. It is astonishing how near the truth the contents may be
obtained in this way.

The figure ABCDEF is supposed to have very crooked marches

which you have to measure.

1st. Place a station staff at B and another at D; then go into the

adjoining field at A, and move yourself backwards and forwards till

you think you take as much from the field you are standing in as you
give off the field you are to measure between
A and B, and also between A ai;id D, and
leave a mark at A : you then go to C, and
place yourself so that you think you give as

much as you take between C and B, and
leaveamark at C. DothesameatCFEand
D; leave marks where all the letters are pla-

ced, as they have all to be measured into

from the diagonals.

You may begin your measure at D, and
measure the diagonal to F, which is 500 ells

;

leave marks upon your diagonal line opposite
the corners C and E; you then measure from
your mark upon the diagonal into E, which
is 204 elk; you then go to yow other mark
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opposite C, and measure into C, which is 246 ells ; you then go to

D, and measure the diagonal line to B, which is 580 ells, and leave

marks opposite the corners C and A; you then go to your mark op-

posite A and measure to A, which is 500 ells ; you then measure from

the other mark you left upon the diagonal line opposite the corner

C to C, which is' 190 ells.

The contents are found thus

:

Half the diagonal FD is 250 ells, and the sum of the perpendieulars

E and C are 450 ells.

A. R. F. E.

Look at the top for ("opposite 400 ells wide is 17 1 17 28

250 ells long, and
(_
opposite 50 ditto is ... 2 — 27 8

Amount of that part of the field CDEF 19 2 5 —

Half of the diagonal DB is 290 ells, and the sum of the perpen-

diculars A and C is 490 ells.

A. R. F. E.

Look at the top for
f
opposite 400 ells wide is 20 — 22 8

290 ells long, and \ opposite 90 ditto is.......... 4 2 5 —
Amount of that part of the field ABCD 24 2 27 8
Amount of that part of the field CDEF 19 2 5 —
Amount of the w^hole field 44 — 52 8

It only remains now to make some geneial remarks without the

figures of fields, as it is presu'rued every thing has been stated that is
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necessary, not only in square ground, but irregular lying fields ; and
by a little attention the whole will be easily understood.

Suppose there are some clumps of plantings, ponds, knows, roads,

burns, or any other pieces of waste land that lie in iht field or iartn

which you want to know the contents of, on purpose to deduct them
from the measure.

1st. Suppose a planting, into the inside of which you cannot get for

brushwood, &c. Take your cross staff", and place it at a little dis-

tance in the field, and take a right angle, and measure a length till you
can see nearly square past the planting, and leave a mark, and take
offsets into the j)lanting as you measure that length. You next go to

where you began, and measure the other side, till such time as you
Uiink you are s(|uare with the planting; which you can easily know
by looking through your cross staff". In measuring that line, take off-

sets into the planting. You then measure the third line round the
planting, and take offsets into the planting. Lastly, measure tht.^ fourth
line, and make a joining with the mark you left on the first line, and
take the offsets.

The contents are found in the Tables by adding the two opposite
sides together, and taking the half for a mean, which gives the con-
tent of the square ; but the oifsets must all be deducted, and the re-

mainder is the content of f he planting.

Thus your 1st line is 151 ells, and vour 1st offset 12 ells—the 2d,
4 -the 3(\, 0—the 4th, 7—the 5th, 12 ells.

Your 2d line round the planting is 140 ells, the 1st oflTset 14 ells

—

the 2d, 5—the 3d, 1—the 4th, 6- t'le dth, 1.1 tils.

The 3d line is 1 48 ells, and the 1st offset is 10 ells—the 2d, 5—-the

3d, 0—the 4th, 5— the 5th, 12 ells.
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The 4th line is' 142 ells, the 1st offset is 10 ells—the 2d, 4—the

5a, 1—the 4th, 7-—the 5th, 11 ells.

The mean of the 1st and 3d line is 150 ells, and the mean of the

2d and 4th line is 141.

A. R. F. E.

Look at the top of the Tables \ 100 ells wide is—^ 2 1 31 24

for 141 ells, and opposite j 50 ditto is*,.*-^**,** 1 — 35 30

Amount of the square round the planting**^ 3 2 27 18

Offsets on the First Lme. Offsets on the Second Line.

„
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Offsets on the Third Line.

1 10

1 10

2 5

2 5

3
5
4 5

4 5
5 12

5 12

12)6 l(5i mean, nearly. 12)06(5' mean.

Look into the Table for a. r. f. e.

151 ells long, and opposite 6 ells wide is^>^^*^^-*^*^^ 25 6

140 ells long, and opposite 6 ells wide is^^^*^^*^>*^-*-v 23 12

the halfof 140, which is 70 ells, and opposite 1 ell wide is 1 30

148 ells long, and opposite 5 ells wide is 20 20

the half of 148, which is 74 ells, and opposite 1 ell wide is 2 2

142 ells long, and opposite 5 ells wide is.v ^ 10 26

the half of 142, which is 71, and opposite 1 ell wide is — — 1 35

Total content of the offsets . —- 2 14 25

Which deduct out of the amount of the square, and

there remains for the amount of the planting.^.^**..* 3 — 12 31

e2
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2d. A pond or loch is measured in tlic same way, and needs no
explanation.

3d. A grass know or hillock is jrenerallv measured in the same wav:
or it may be done !)y taking the length otit, and the breadth in two or

three places, adding them together, and dividing by as many times as

you iiave taken the breadth ; which gives a mean ; and the contents

are found out in the Tables as before directed, by finding out the

length, and ticking the mean for the breadth.

4th. A road or burn, the content of whicli is found out bv looking

for the length at the top of the Tables, and the mean breadth ; but it

will happen very frequently, that the length of a road or burn will ex-

ceed 600 ells. In that case if you divide the length by any number,

2, 5, 4, or more, you must multiply the mean breadth by as many as

you have divided the length. For example, if thelength of your road

should be 1560 ells long, and the breadth 12 ells wide, if you divide

1560 ells by 10, your length will be 156 ells ; but the 12 ells mean
width of the road must be multiplied by 10, which will make the

width 120. Look out for 15G ells at the top of the Tables, and op-

posite 120 ells wide is the content of the road.

If you should have two, three, four, or more crocked riggs to mea-
sure, take the length of the riggs, and several breadths ; add the

breadths together, and divide them by as many times as you have ta-

ken their width (for a mean) ; The content is found out by looking

for the length at the top of the Tables, and for the mean breadth at

the side, and opposite it you will see the content. Again, suppose

a gentleman lias inclosed a farm with hedge and ditch, and he is

anxious to know how much land is taken off the farm by inclosing:

^Measure the width of the fences, which suppose is 2 ells at a me-
dium breadth, tlie length of the whole fences is 4960 ells long ; you
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may divide 4960 by 10 ; but you must multiply the 2 elis medium
\vidth by 10 which makes 20. At the top of the Tables find out

496 ells long, and opposite 20 ells wide you will find the contents,

1 acre 2 roods 55 fal is 20 ells,

Again, supjjo^eboth the length and hreacith of afield should exceed

600 ells, the content still may be found out hy the Tables. First,

find out the content of 600 ells long, and the width required, then

the content of the part renudning above 600 ells long : the sums ad-

ded together give the whole content.

Suppose the length of a field should be 1180 ells, and its width

690 eils.

The content is found out thus : Take 600 from 1180, there re-

main 580.

1st. Look at the top for 600 ) 600 ells wide is^^^*

eils long, and opposite to / 90 ditto is

E.

The amount of 600 ells long and 690 ells wide^......7 1 3 20 —
2d. Look at the top for 580 7 ^^^^ ^"^ wide is.^. 60 1 26 24

ells long, and opposite to 5 ^^^ ^-itto is^^v x^^ 9 — 10 —
Tofralamountof afield 1160 ells long and 690 wide 141 1 16 24

N. B. If the ells are more than 1200, you have to double the a-

mount of 600 ells ; if they are more than 1800 ells, you huve to triple

the amount of 600 ells. If the length should be more than 2400 ells,

you multiply the product by 4; and so on for any grciter number.

Suppose 3000, you must multiply ])y 5, and for5600by 6 ; and if there
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should be any remainder, it must be estimated by the Tables, and
the amount added.

Suppose you had a large muir upon your farm, and you wished to

satisfy yourself within a few acres of its contents, by taking the me-
dium length and breadth of the same by stepping. Take the length

in two places, and the breadth in three or four; add the two lengths

together, and take their half for a mean length, which is 194-0 steps,

each pace supposed 57 inches ; then add the breadths together, and
divide the amount by as many times as you have taken the breadth

for a mean width; which suppose is 1G20 ells.

The contents are found out by the Tables thus :

A R F E
1 600 ells wide is 62 2

1st. Look at the top for 600 ^600 ditto is . 62 2
ells long, and opposite to ^400 ditto is.. ... 41 2 26 24

J 20 ditto is .. 2 — 15 12

The amount of 600 ells long and 1620 ells wide....

Add the same amount, gives 1200 ells long ..,

Add the same amount, gives 1800 ells long .,

Amount of 1800 ells long and 1620 ells wide.... 506 1

168
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N. B. The above would be very near the truth, ifyou were to mea-
sure it with the tape, cord, or chain. If your step should be less than

one ell of 57 inches, the content of the muir will be fewer acres ; if

your step should be more than an ell, the content of the muir will

be more acres.

Many more examples might be given to find out the amount to a
much greater extent by the Tables ; but as they are all upon the same
principle, it is presumed no more are requisite. The following rule

will be found as expeditious as the tables for extensive muirs, or

large tracts of uninclosed land.

Method of proving any of the numbers, to ascertain the accuracy
of the tables : Multiply the length and breadth together, and divide

the product by 5760 (the number of square ells in a Scotch acre), and
the quotient gives the number of acres; what remains multiply by 4
(the number of roods in an acre), and the product divided as before

by 5760, gives roods ; and the remainder multiplied by 40 (the num-
ber of falls in a rood), and the product divided as before, gives falls;

and the last remainder multiplied by 36 (the number of ells in a fall),

and the product divided in like manner !)y 5760, gives ells.

The following examples will be a sufficient explanation.
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[. 500 ells long, and 400 wide.

500
400



From 1 to 5 Ells Long. SI

ElU
Wide

Ell Long.

F. E.

2
Ells Long.

A. R. P. E.

O

3
El's Long,

4
ElU Lo g

A. R. F. E A, F. E.

4h-

Ells Long.

121.

12 If

10!-

12r

15-

18.

20

24!

14!- 21 28
16

9— 9. 18

10.

20.

30-

40-

50.

60.

70-

80 •

90.

— lo;—
— 20,--

— 30—
1 4—
1 14—
1 24—
1 34—
2 8—
2 18—

20
4

24
8

28

32

16

— 24.

— 27,-

- 32
1 —

- 30l—
1 24—
18;—

R. F. E.

5
10

15
20
25
30
35

— 1 4
— 1 9

s'

12
16— ^
20
'24'

5 so; 7 28'

100 2 28 5 20 S 12l 11 4

200 5 20 11 4 16 24l 22 8
300 8 12 16 24
400 11 4; 22 8

500 13 321 27 28— 1

600— -^ 16 24^ 33 121— 1 10 —|— 1 26 24;—

24—
18— 10 —

1 14

2 28
4 6
5 20
6 34
8 12

9 26
11 4
12 18

25 —1—



ss From 6 to 10 Ells Long.

F.l!s



From 11 to 15 Ells Lon*

F.lls



40 From 16 to 20 Ells Long.

ZUs



From 21 to 25 Ells Long. 41

Kilt



42 From 26 to 30 Ells Lon^.

El!i 1



From SI to 3,5 Ells Long. 48

EllJ



44< From S6 to 40 Ells Long.

1

Ells i



From 41 to 45 Ells Long. 45r

Ells



46 From 46 to 50 Ells Long".

Ell.



From 51 to 55 Ells Long. 47-

ElU



48 From 56 to 60 Ells Long.

e:u



From 61 to 65 Ells Long. 49

Ell»



50 From 66 to 70 E\h Lon^.

tils



From 71 to 75 Ells Long. 51

z\u



52 From 76 to 80 Ells Long.

Elb



From 81 to 85 Ells Long. 53

Ells



From SG to 90 Ells Long.

E'.U



From- 91 to 95 Ells Long.

pus



56 From 96 to 100 Ells hong.

Ells



From 101 to 105 Ells Long. $1

F.i:s



58 From 106 to 110 Ells Long.

Ells



From 111 to 115 Ells Lon^, 5f)

Ell.



60 From 116 to 120 Ells Long.

Ells



From 121 to 125 Ells Long, 61

£IU



62 From 126 to 130 Ells Long.

EllS



Prom 131 to 135 Ells Long. 63

El'.s



64/ From 136 to 140 Ells Long.

EJls



From 141 to 145 Ells Long. 65

Ells



ee From 146 to 150 Ells Long.

EUs



From 151 to 155 Ells Long. et

Ells



68 From 156 to 160 Ells Long.

El's



From 161 to 165 Ells Lono-. 69

ElU



(0 From 166 to 170 Ells Long.

166



From 171 to 175 Ells Long.

171 1



From 176 to 180 Ells Long.

Ell.=



From 181 to 185 Ells Long.

rus



74 From 186 to 190 Ells Long.

Ells



From 191 to 195 Ells Long. 75

Ells



'6 From 196 to 200 Ells Long.

El's



From 201 to 205 Ells Long. 77

EUs



78 From 206 to 210 Ells Long.

EUs



From 2J 1 to 215 Ells Long,

Ells



80 From 216 to 520 Ells Long.

Ells



From 221 to 225 El!s Long. 81

EUs



82 From 226 to 230 Ells Long.

Ells



From 231 to 235 Ells Long. 83

Ells



84 From 236 to 2-iO Ells Loiio.

El's





86 From 246 to 250 Ells Lon^.

Ells



From 251 to 255 Ells Long.

£l)s



S8 From 256 to 260 Ells Long.

EUs



From 261 to 265 Ells Long. 89

Klls



90 From 266 to 270 Ells Long.

Ells



Trom 271 to 275 Ells Lon^, 91

Ells



92 From 276 to 280 Ells Long.

EUs



From 281 to 285 Ells Long. 93

Ells



94 From 286 to 290 Ells Long.

EIIs



From 291 to 295 Ells Long. 95

ElU



96 From 296 to SOO Ells Long.

Ells



From 301 to 30.5 Ells Lon,^. 97

K Is



98 From 306 to 310 Ells Long.

E!U



From 311 to 315 Ells Long. 99

EUs



100 From 516 to 320 Ells Long.

F.lls



From 321 to 325 Ells Long*. 101

E':1S



losr From 326 to 330 Ells Long.

ElU



From 331 to 335 Ells Lon^, 103

Ells



lO* From 336 to 3iO EUs Long.

ElU



From 341 to S4h5 Ells Long. 105

Ells



106 From 34^ to 350 Eils Long.

K'.ls



From 351 to 355 Ells Long. 107

ElJs



108 From 356 to 360 Ells Long.

Ells



From 361 to 365 Ells Lon^. 109

'eUs



110 From 366 to 370 Ells Long^.

S66



From 371 to 375 Ells Lons::. Ill

fnis



112 From 376 to 380 Ells Long.

Ells



From 381 to 385 Ells Long. 113

J'J'

»



114 From 3S6 to 390 Ells Long.

EUs



From 391 to S95 Ells Long. 115

Ells



116 From 396 to 400 Ells Long.

ElU



From 401 to 405 Ells Long. 11

Elli



lis From 406 to 410 Ells Long.

EUs



From 411 to 415 Ells Long. 119

Ells



120 From 4<16 to 420 Ells Long.

t:iis



From 421 to 425 Ells Long. 121

Ells



122 From 426 to 430 Ells Long.

z:\'.



From 431 to 435 Ells Long. 123

Ells



124* From 436 to 440 Ells Long.

ElU



From 441 to 445 Ells Long. 12.:

Ells



126 From 446 to 450 Ells Long.

Ells



From 451 to 4^55 Ells Lon^. 127

ElU



128 From 4^56 to 460 Ells T.ong.

r.iis



From 461 to 465 Ells Long. 129

ElU



ISO From 4<66 to 470 Ells Long-.

EI1»



From 471 to 475 Ells Long. 131

Ells
Wide.



1S2 From 476 to 480 Ells Long.

Ells



From 481 to 485 Ells Long. 133

EIU



134 From 486 to 490 Ells Long.



From 491 to 495 Ells Long. 13.:

EIU



136 From 496 to 500 Ells Long*.

Ells



From 501 to 505 Ells Long. 137

Ells



138 From 506 to 510 Ells Long.

ElU



From 511 to 515 Ells Long;. 139

EUi



140 Frt)m 516 to 520 Ells Long.

Ells



From 521 to 525 Ells Long. 141

Ells



U2 From 526 to 530 -Ells Long.

Ells
Wide.



From 531 to 535 Ells Long. 143

Ells



144^ From 536 to 540 Ells Long.

EUs



From 541 to 545 Ells Long. 145

Elh



iW From 546 to 550 Ells Long.

_ . ^ 1



From 551 to 555 Ells Long. 14'

Ells



148 From 556 to 560 Ells Long.

EUs
Vide.

556
Ells Long.

551
Ells Lon^.

55S
Elh Long.

559
Ells Lon^.

560
Eili Long.

1

o

s

4
5

6

8.

9-

lo-

se
30
40
50
60
70
80
90

100
200
300
400

9
19

28

38
50048
600157

F. £.

15 16

30 32

6 12

21 28

37 8

12 24
28 4

3 20

19 —

A. R. F.

15 17

30 34
— 1 6 15

— 1 21 32
— 1 37 13
— 2 12 30
— 2 28 11

— 3 3 28
— 3 19 9

A. R.

18

F. E.

15 IS

31 —
6

22

37 18

13

28 IS

4

19 18

A. R. F. E. A.

15 19
31 2

6 21

22 4—

34 16

28
23 12

17 2S

12

6

1

S5 20
30 .

3 34 26
3 29 16

3 24
18

13

8

3

37 28
8 2 32 18

24 16

8 32
9
19

33 12 29 —
17 2838 2

2 84S 1

2 27 8

1 14 16

1 24
28 32

3 35
3 30
3 25
3 20

3 15

3 10

3 5

3 —
2 35

9 2 30 —
19 1 20 —
^9 — 10 —
8 3

— 1 37 23
13 6

28 25
4 8

i9 2

35 10
30 20
25 30
21 4

16 14

24

34
8

18

9 2 32 28

19 1 25 20
29 — 18 12

S% 3 11 4

F. E.

15 20
31 4

6 24
22 8

37 2B
13 12

28 32
3 4 16

3 20 —
35 20
31 4
26 21-

22 S

17 £8
15 12

8 32

4 16

2 84S 1 16 448 1 30 —48 2 3 32

26 2458 — 3 12;58 — 20 —foS — 36 24

9 2 S5 20

19 1 31 4

29 — 26 24
38 3 22 8

48 2 17 28
58 1 13 12

J



From 561 to 565 Ells Long. 149

Ells



150 From 566 to 570 Ells Long.

Ells



From 511 to 575 Ells Long, 15]

SI Is



152 From 576 to 580 Ells Long.

El!s



From 581 to 585 Ells Long. 153

Ells



154 From oS6 to 590 Ells Long.

Ells





156 From 596 to 600 Ells Long.

Ells
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TABLES /or turning Scotch Measure into English,
and English info Scotch.

Example, Turn 18 acres, 2 roods, 10 falls, Scotch measure, intp

English.

A. R. p. Y.

{opposite 10 acres js^v^**^*^^^^^^ 12 2 11 12
opposite 8 acres is ^^^^^^^^^^^ 10 9 5
opposite 2 roods is*,^*^^^^**^^^^ — 2 20 18
opposite 10 falls is*^^^^*^^^^,..^*^ 12 18

The amount in English measure^^^ 23 1 15 21

Example, Turn 23 acres, 1 rood, 13 poles English measure, into

Scotch.

A. R. P. E.

;
opposite 20 acres is,.v*^..vv.^^^^*,^ 15 3 25 22
opposite 3 acres is*.w»^^^^**^^*^ 2 1 21 30
opposite 1 rood is^.^^^^ ^^v^ 31 30
opposite 13 poles h^^^^^^,^^,^^^^^^^ 10 11

The amount in Scotch measure**,%^v* 18 2 9 21

N. B, Carry 1 for every 36 ells in Scotch measure, and 1 for every
50 yards in English measure. Carry for the falls and roods the same
as before described in ^he beginning of the book.
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Scotch Measiire turned into English,

hcotch



fm

English Measure turned into Scolch.

Engl.
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Irish Measure Unified into Engluh.

Irish



161

Irish Measure turned into ScottL
"

Irish
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Tables shewing the Breadth required for an Acre of Land

^

from 1 Ell to 600 EUs.

Explanation.—Find the distance of the ground in the Tables, and

opposite it you find the ells, feet, and inches required for one acre.

Example. Suppose you have a length of 128 ells, and wish to

know what breadth to measure corresponding to that length to be an

acre. Look into the Tables for 128 ells, and opposite it stands 45

ells, which is the breadth of 1 acre. If you want to know how far

you should measure to lay oif 2, 3, 4, or more acres, corresponding

to that length of 128 ells ; multiply 45 ells by the number of acres

you want to stake off, suppose 6 ; then 45 multiplied by 6 gives 270
ells : this shews that you must measure 270 ells, which will be the

width of 6 acres. If you want to lay off half an acre corresponding

to the above length, take the half of 45 ells, which is 22 ells 1 foot

6 inches : this is the breadth for half an acre. If you want to lay off

a quarter of an acre, take the ^th of 45, which is 1 1 ells feet 9
inches. This width gives a quarter of an acre. If you want to lay

off three-quarters of an acre, add the width of half an acre and the

width of a quarter of an acre together, and that gives 33 ells, 2 feet,

3 inches, being the width for three-quarters of an acre; or it may be
done by multiplying 45 by 3, and dividing the product by 4, which
gives also 33 ells, 2 feet, 3 inches, some fractions excepted ; which
are not minded in any of the calculations.

It seldom happens that odd falls are wanted to be staked off but

in ?mall gardens, &c. ; however, that may be known also, by multi^
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plying the breadth of one acre, and dividing the product by 160 (the

number of falls in an acre) Suppose 45, as before, to be the breadth

required for an acre corresponding to the foregoing length of 128 ells

:

Then multiply 45 by the number of falls you want to stake off; sup-

pose 16.

The operation thus

:

45 ells the width of an acre.

Multiply by 16 falls.
/

270
45

Divide by the number of —2. f. in.

falb in an acr«^vv,^v„v^ 160)720(4 1 II. This is the width requi-

640 red for 16 falls.

60
Muhiply by 3 which gives feet.

160)180(1
160

20
Multiply by 12 which gives inches.

160)240(14-

160

80
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Aj[i example or two more will be sufficient to make the whole ea-

sily understood. Suppose a farmer has 128 ells in length adjoining to

a stone dike, and he wishes to sow 2 acres and 2 roods of barley, What
width must he measure to give that quantity of ground ?

Look into the Table for 128, the length, and opposite to it e. Ft. in/

is 45 ells, the breadth of 1 acre, the double of which is 90
The half of 45 ells, for the half acre, is 22^ 1 6

The wide required for 21 acres—^^^x**^^^^^^ 112 1 6

Suppose you have a front of 42 ells, and you wish to feu off as

much ground behind as will give the feuer half an acre. Look into the

Table for 42 ells, and opposite 42 you will find 157 elLs 5 inches, the

breadth of an acre ; the half of which is 68 ells, 1 foot, 8] inches:

the distance required.

Suppose you have another front of 20 ells, and you are applied to

for a feu of that front, and 20 falls behind for a garden. How far

must you measure back ?

Look into the Table for 20 ells, and opposite 20 is 288 ells, the

breadth of an acre.

288
Multiply by 20 the number of falk wanted.

Divide by the numb'er of

fails in an acve^.^^^^^^^ 160)5760(56 ells, the distance required

480 behind the front for 20fal!s.

)960(
960
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Table shewing the Breadth requiredfor an AcfCy

from 1 Ell Long to 100.

£ils
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Talle shelving the Breadth required for an Acre,

from 101 Ells Long to 200.

Ells
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Table shewing the BreacUh requiredfor an Acre,

from 201 Ells Long to 500.

Ells
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Table skewing the Breadth requiredfor an Acre^

from 301 Ells Long to 400.

Ells
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Table shewing the Breadth requiredfor an Acre

from 401 Ells Long to 500.

ii.ls
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Table shewing the Breadth required for an Acfc

from 501 Ells Long to 600.

ills
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Table ybr ascertaining the Length of One Rood of Mason-

Work in a Stone- Wall, from 1 Inch to 10 Feet in Height*

Explanation.—When a wall is to be built, it is generally agreed

between the employer and contractor to be p&id per the rood of 5(iyards.

Example. Suppose you build a wall 4 feet 6 inches high. In the

Table, opposite 4 feet 6 inches, is 24 yards, which is the lineal length

of 1 rood of mason-work corresponding to that height; and as often

as you have that length in your wall there are as many roods in the

wall. Suppose you have that length 19 times and 18 lineal yards

more; this shews that the wall contains 19 roods and 18 lineal yards

of mason-work.
Again ; suppose you build a dike or stone-wall 6 feet 6 inches

high: Opposite 6 feet 6 inches is 16 yards 1 foot 10 inches, which is

the length of 1 rood corresponding to that height, with a tape 16 yards

1 foot 10 inches long; and as often as you have that length in the wall,

suppose 40 times and 8 yards; which is equal to 40 roods of mason-
work, and 8 lineal yards.

Again ; suppose you build a dike 9 feet 9 inches high. Opposite
it in the Table is 11 yards feet 2 inches: every time you have that

length is 1 rood, suppose 79 times and 9 yards ; which in all is 79
roods of mason-work and 9 lineal yards.

Again; suppose you have a garden-wall 6 feet high; you want to

raise it 9 inches higher. Opposite 9 inches is 144 yards, which is the

length of 1 rood corresponding to that heiglit of 9 inclic?: as often as

you have 144 yards in length is the number of roods of mason-work
p 2
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contained in the addition to the garden-wall. Suppose you measure

round the i;arden, and you find it contains in all oOOO yards; divide

that number by 144, which gives the number of roods, viz. 54 roods,

and 104 lineal yards over.

N. B The remainders are all set down in lineal or running yards,

which should be turned into square measure; and is done thus: mul-

tiply the remainders by 3i^^ and divide the product by the number
of lineal yards that you find in a rood of mason-work.

In example first there are IS lineal yards remaining.

18 lineal yards

Multiply by 3(j yards in a rood

108
54

Divide by^ ^^ ^ 24)648(27 square yards the answer.

the lineal length of a rood 48

168

In the last example 104 lineal yards remain

56

624
312

Divide by^^^.^^ ^ - 144)5744(26 square yards the answer

the lineal length of a rood 288

864
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Table for ascertaining the Number of Cabbages that will

Grow uponfrom 1 Fall of Ground to 60 Acres, for Feeding

of Cattle.

Explanation.—The figures at the top of the columns are the sup-

posed distance in feet and inches one plant is asunder from another

—

"those under are the number of plants—and the figures in the left hand
column are acres, roods, and falls.

One example is sufficient to explain this Table, viz.

Suppose you have \2 acres 3 roods and 25 falls of ground, and you

wish to know how many cabbages could be planted at 1 foot 6 inches

distant from one another.

Look at the top of the Table for 1 foot 6 inches, and go down that

column till you are opposite 10 acres, and you will find^^^v 245820
Look down the f 2 acres, and you will find^^^ ^^^^^^^^ 48764

same column J 5 roods,—^**^^^^^^^^^^^^v^^^*^^^^^* 18285
till you are 1 20 falls, ^ 3045
opposite {^ 5 falls,^^^*^^^**^,^^^^^^^^^^^^^*^^^* 762

The sum of which is the number of cabbages^*^^^*^ 314676

If the above cabbages are only valued at Id. per dozen, they will

amount to L. 109 :5:3*
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Table for knowing what Quantity of Forest Trees to

order to plant on any quantity of Groundfrom 1 Fall to 60
Acres.

Explanation.—The left hand column shews the quantity of

ground in acres, roods, and falls; the top column the supposed dis-

tance in feet and inches one tree is planted from another, and under

that column is the number of trees.

A^. B. If the number of trees is wanted only to be planted two
or three feet asunder, look into the Table of Cabbages and you will

find the number.

Suppose you want to plant 25 acres 2 roods and 25 falls at 4 feet

6 inches distant from one another.

{20 acres you will find 54180
LookintotheTableun- ! 5 ditto ^*^^^^v^—v^^^^^^ 13545

der 4 feet 6 inches, <j 2 roods ^^^^^^^^**.v^^—^^v*^— 1350

and opposite^*^*^.^^ ! 20 falls—^^^^^^—^^*^*^^^^^ 358

{ 5 dittos. . .— 84
The number of trees wanted to purchase to plant 25 acres .

2 roods 25 falls of ground, at 1 foot 6 inches distant from
one another —v^^^^**^v^^—^^^*^^—* ^^^^ 69497
N. B. The calculations are all made in the Table the short hundred

of five score. As many nursereymen sell their forest trees by the long

hundred of six score, multiplying by 5, and dividing by 6, gives the

number of forest trees wanted in the long hundred of six score. Sup-

pose ... . 69497
Is multiplied by.........^,^^.^....v......... 5

And divided by.... ..^ ... .... 6)347485

Gives the number in the long hundred 57914
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Table I. For Dunging, Liming, or Manuring Land,

E.\PL\NATioN.—The large figures on the top column shew the

r.umber of heaps in a cart-load, and under them the number of cart-

loads required for an acre for any given distance of the heaps. The
figures on the left hand column shew the distance of the heaps of ma-
nure in ells and half ells that the heaps are distant from one anothe;-.

Suppose heaps of dung are placed 4| ells from one another, and 6
heaps made out of a cart-load. Then under 6, and opposite 4f , you
find 48 ; which is the number of cart-loads wanted to manure an acre.

Or suppose heaps of lime are placed 5 eJls distant from one another,

and you make 8 heaps put of a cart-load—the Table shews that 29
cart-loads of lime will manure an acre.
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Table II. For Dunging, Liming, and Manuring Ground,

The first Table for manurins^ land is made supposing the distance

of the rows is equal to the distance of the heaps from each other ; but

as this very seldom happens, or can be done upon corn lands or rigs

where the furrows are deep -the following Table will shew the num-
ber of heaps wanted to cover an acre at any breadth of the rows, and
the distance of the heaps from one another.

Explanation.—The figures placed at the top of the columns are the

distance of the breadtii of the rows; those on the left hand column
are the distance of the heaps on the rigs from one another : imme-
diately under the top column, and opposite the left hand column, you
will find the number of heaps wanted to cover an acre.

Example, Suppose the row^s 8 ells in breadth from one another,

and the heaps 6r ells from one another. Under Ti on the top co-

lumn, and opposite 6|- on the left hand column, you will find 111,

the number of heaps required for an acre; and if this number (111)

be divided by the number of heaps you make of a cart-load (which

suppose 5), shews that 22t cart-loads are wanted for an acre.

Again ; suppose the rows to be 6 ells from one another, and the

distance of the heaps laid upon the ridge to be only 2 ells from one

another, and you make only 3 heaps in a curt-load ; under 6 on

the top column, and opposite 2 in the left hand column, you find

4S() heaps ; this number, divided by 3, gives i(iO cart-loads to ma-

nure an aero of ground.
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Table for Measuring SlateMs and Thatchers Work,
from 1 to 100 Feet Long, and from I to IS Feet High
Slant of the Roof

Explanation.—Slaters and thatchers work is measured by the

yard, and sometimes by the rood, which is 56 square yards. One
square yard is 9 feet ; that is to say, 3 feet long and 3 feet wide.

The dimensions of the Table are set down in square yards and feet.

If the number of roods is wanted, dividing the square yards by 36
gives the roods, and the remainder is square yards and feet.

How to Measure the Roof of a House or Stack.

Measure the length of it in feet, and also the height from the

eaves to their top. Then in the Table, opposite the length of the

house or stack, in the column on the left hand, and opposite the

height of the roof in the top column, you have the contents of one
side in square yards and feet ; and if the dimensions be the same on
the other side of the roof, double the contents.

Example—If theroofof ahouseis 40feet longaftd 15 feet in height

by the slant to the top ; then under 15 feet on the tbp, and opposite

40 on the left hand column, you find 66 yards 6 feet for the content
of one side ; the double of which is 133 yards 3 feet ; being the con-

tents of the whole roof: That number divided by 36 gives 3 roods 25
yards and 5 feet. If the roof should be unequal, add the contents of

the two sides together. But observe, when you add feet together, to
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carry 1 for every 9 feet ; as it takes 9 square feet to make 1 square
yard. If 66 yards 6 feet were doubled, 3 is set down under feet,

and 1 carried to the yards ; which makes the sum 133 yards 3 feet.

How to Measure the Thatch of a Stack.

Measure round the stack at the bottom of the thatch, and then from
the eaves to the top ; which should be halved for a mean height. Sup-
pose a stack measures 80 feet round, and 16 feet from the eaves to the

top; look into the Table at the top column for 8, which is the half

of 16, and opposite 80, on the left hand column, you will find 71 yards
and 1 foot ; which is the contents of the thatch.

The above is so plain that it needs no further illustration.

Q 2
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Table of Slaters and Thatchejrs Work, from Wo 100 Feet Long,

andfrovi 1 to ^ Feet in Height.

\ Feet
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Table ybr turning Acres, Roods, and Falls,

into Money.

Explanation.—The left hand column shews the quantity of land^

and the other columns the value, at different rates, per acre.

A few examples will be necessary to explain the Tables.

Suppose 20 acres 1 rood 20 falls, valued at L. 3 per acre—What
is the amount in cash ?

Look into the Table at the top for L. 3, and in that column, opposite

to 20 acres, you will find^^^wv^^v*^^^***-*.*,^.^^..^.^** L. 60

Opposite to 1 voodi^^^^^^^^^^^^^,^^^^^^^^^^,^^^^^^^^^ 15

20 falls—, .^ 7 6
Therefore the amount of 20 acres 1 rood 20 falls, va- —

—

lued at L. 3 per acre, is**^^**^^^^*^^*-.**^,.,^^*^^ L. 61 2 6

Example II. Suppose 55 acres 3 roods 1 fall, valued at L. 5, 10s*

per acre—What is the amount in cash ?

1st. Look into the Table for L. 5, and in that column, opposite ta

50 acres, you will find^^*^**^**^^^*^^^*^^^^^^*^ L. 250
Opposite to 5 acres-^^v*^^vwvwv>^^vvv^*^w^^^*>^«^^w.-.^ 25

Carry over^^..*. L. 2T5
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Brought forward**^^ L. 275
Opposite to 5 roods.-^^^^,,,,,,^.,,^^*^^^^^^^^^^^^^',.^^^^^^^

1 fall ^.....^ ^^.^^
2d. Look into the Table for 10s. and opposite to 50

acres you will find.

Opposite to 5 acres^

3 roods

Ifall

'» V !»%»% »W^-%^'V^^^'OV»^-V%'V^-»^^'>^^»V^»»»»'V»^

275



188 From 1 Fall to 60 Acres, andfrom M. to 45. per Acre,

Quantity of



From 1 Fall to 60 Acres^ andfrom Bs. to 8s. per. Acre. 189

Quantity o



190 From 1 Fall to 60 Acres, and from 95. to \^s. per Acre.

Quarcity ui



From 1 Fall to 60 Acres, andfrom 13s. to]l6s. per Acre. 191

t^anticy ot



192 From 1 FaR to 60 Acres, andfrom \Hs. to L. 1 per Acre,

<^antity ot



From 1 Fall to 60 Acres ^ andfrom L. 2 to L. 6 per Aere. 195

^iiii ity



194 Fi'om 1 Fall to 60 Acresj andfrom L. 7 to L. 20 per Acre,

i^u -n^ty ot



Fritm 1 Fall to GO Acres, and from L.50 to L.10 per Acre- 195

(^antity of



196 From 1 Fall to 60 Acres, andfrom L. SO to L. 1000 per Acre.

i^iut ty ui
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Table shewing the Number of Days frovi any Day in one

Month to the same Day in any other Month,

Jan.
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Table /or Comput'nig Intej-est.

Explanation.—Multiply the principal sum by the number of days,

which you will find out by the preceding Table, and that product by
the rate of interest ; from this last product cut off the two last figures

on the right hand: look for the remaining figures in the Table, and
collect the sums answering to them, and their amount is the interest

sought.

Example. What is the interest of ^.546 for 100 days at 4per cent. ?

b^6 the principal

Multiply by 100 the number of days

54600
4 the rate of interest

Collect out of the Table 2184j00 cut oflf two figures, and collect the

left hand figures out of the Table.

L. 2000 gives ^.5 9 7 27
100 gives ' 5 31 01
80 gives 4 4t 41
4 gives 2t 52

The interest sought £, 5 19 8 21
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Again ; What is the interest of I..50 from the 1st of January to

the 1st of November, at 5 per cent. ? Look into the Table from Ja-

nuary to November, and you will see 504 days.

50 the principal

Multiply by 304 number of days

200
150

15200

5 rate of interest

760|00 cut off two figures, and collect the left

hand figures out of the Table.
'to

L. 700 gives L. 1 18 4'. 09
60 gives 3 34- SO

The interest L. 2 1 8 89

The above is so plain, that no more examples are necessary.
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Table /or Computing Interest from L, 1 to L. 900,000.

i..



Wl

Table slinmng the Number of Cubic Feet there are in One Running

Yard, in Cutting a Ditch or Drain from Gne Foot Deep to Six Feet,

andfrom One Foot Wide to Six Feet.

Dec;-



^Z02

wide, and in the column under 4 feet deep, and opposite 3 feet, you
will find 36 feet; which is the number of cubic feet in one running

yard of cutting. Then multiply S6 by 1 74, which is 6264 cubic leet;

which if you divide by 27, the number of cubic feet in a yard, you
will have 232 cubic yards; which, at 2d. ^^e?- yard, amounts to L. 1^

ISs. 8d.

The example worked thus

:

174 yards the running length

36 cubic feet in one yard

1044
522

Divide by the number of

cub. feet in a cub. yd. 27)6264(232 the number of cubic yards in 174

54 running yards, at 2d. ;;e?' yard,

amounts to L. 1 : IS : 8.

86
81

54
54

Another example will be sufficient to illustrate the Table.

Suppose a ditch 4 feet wide at the bottom and 8 feet wide at the

top, and the medium depth 5 feet 6 inches. Add 4 feet and 8 feet

together; which is 12 feet: the half of which is 6 feet for a medium

width. Look into the Table for 6 feet wide, and in the column of 5 feet
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inches deep, and opposite 6 feet, you will find 99 feet; which is

tiie number of cubic feet in one running yard.

Suppose you have cut 500 running yards—What will the ditch
• »st at 4d. per cubic yard?

The example worked thus :

500 running yards

Multiply by 99 the number of cubic feet in one
running yard

4500
4500

Divide by the number of

cubic feet in a yard 27)49500(1853 cubic yards at 4d. amounts
27 to L. 30: 11:1.

225
216

90 '

81

90
81

9

All other questions aie resolved in the same way, and need tuy

more examples.
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Table fo?' knowing ivhai Number o/" Thorns to Purchase

for Inclosing Landfrom J Ell in Length to 10,000.

Explanation.—The distance one plant is supposed to be placed

from another is set down on the top; the length is set down in the

left hand column; and the number of thorns are set down in the other

columns under the distance that one thorn is supposed to be placed

from another.

Suppose you have a new hedge io make, 90 yards long, and the

•thorns to be placed at 5 inches distant from one another. Look
down the column where 3 inches is marked at the top of the Table

till you are opposite 00, and you will find 11 iO; the number of

thorns wanted for 90 ells in length at 3 inches distant from thorn to

thoni. All others are found out in the same way, and need no far-

ther illustration.



Table to know the number of Quicksets or Thorns to orderfrom 1 to 10,000 £lla 205
in Lengthy andfrom 1 to 10 Inches distant from Thorn to Thorn*

Ells
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Table for tuniing Scotch Chains flf7zc? Links into Ells,

and also English Chains and Links into the same Mea-
sure,

This Table will be found useful to those gentlemen that may have

a chain by them, whether Scotch of English, as the distances maj be

taken with the chain, and turned into ells ; which will save them the

troubleof gettingeithera piece of tape, cord, orachain, made into ells.

Example. If you measure the length of 11 chains and 50 links

with a Scotch chain of 74 feet long.
Ell?.

Look into the Table for 10 chains, and you will find».^*vv^*^^^^240

Opposite to 1 chain^^^^*»-.^w^^*^-v%-v^-..*-»^*^*^-«^fc**%^»*^-v%-v**-»-v^**-w*^^ 24

The number of ells sought*^*^*^^^v%***^*^276

Example 2d. If you measure with an English chain 36 chains

and 6 links in length.
Ells. Ft. In.

Look into the Table for 50 chains, and opposite to it is 642 1 6

Opposite to 6 chains^*^v^*^^^^-»^*»-;^-^-^^-w*».>.*-w^^-**-w^-.^v^l28 1 6

6 \\n\is^^>,^^^^y^^^^^^„K^^.^^^^^^^^^^^^^^^^^'^>^ 1 — 10

The ells sought^^^, 772 — 10

N. B. Carry I for every 12 inches to the feet, and 3 from the

feet to the elk.

5
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Table
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Tables of Solid Measure, for Jinding hi/ Inspection the

Contents of any Piece of Timber, the Length and Side of the

Square equal being known, from 6 to 20 Inches Thick, and

from 1 Foot to 42 Feet Long,

These Tables are so plaia and easy, that the soHditj is found in

them hy inspection only. I trust the Public will not take it amiss for

saying, they comprehend in seven pages as much as some authors have

almost filled a volume with. Although they do not extend to six or

eight decimal parts, yet they extend to inches and halves, which is near

enough for measuring rough timber, either cut down or standing

;

and, from what I can learn, wood-merchants seldom measure nearer

than half of an inch.

The Tables need little explanation, as every person knows that the

length and girth of the tree must be taken before the contents can be

known. I shall insert what way the girth or circumference ought to

be taken. Suppose a tree, from the bottom to the top, tapers equallj^

all the way. Take the girth or circumference in the middle, and di-

vide it by 4, which gives what is called, in customary measure, the side

of the s^are ; that is to say, when the bark is cut off the tree and

squared, ithas fourequal sides; andthegirth beingtaken in the middle

of the tree, gives a mean thickness, viz. it is not so thick in the middle

as at the bottom, but it is thicker in the middle than at the top or

small end. But many treesare very unequal in thickness, particularly
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<)ak : in that case, it will be absolutely necessary to take the girth or

circumference three, four, five, or six times; add ail thetiircumferences

or girths together that are taken, and divide the amount by the number
of girths you have measured round the tree. Suppose you have taken

5 girths ; dividing by 5 gives a mean girth, and dividing the mean
girth^by 4 gives the side or square. Ifyou take 6 girths, divide by 6,

or any other number, either more or less; and be sure to divide by
whatever number of times you have measured round the tree ; but be

particularly attentive that the different girths are taken at equal

distances from one another, and that you divide the mean girth by 4.

The side of the square, or one-fourth of the girth, is marked on the

left hand side of the Tables, and the length at the top : the solid con-

tents are found at the angle of intersection. For example, if you
have measured a tree, the length of which is 19 feet, and the girth 5
feet or 60 inches, the one-fourth of which is 15 inches for the s'de

of the square : Then look at the top of the Table for 1 9 feet, and in

that column, opposite to 15 inches in the side of the square, you will

see that there are 29 feet 8^ inches of solid wood in the tree.

It will sometimes happen that you may have a tree to measure that

is both longer and thicker than any of the dimensions inserted in the

Tables. In that case, I will give one general rule by which it may be

calculated. Suppose the mean girth or circumference to be 192 inches,

and the length 50 feet long. Multiply the fourth part of the girlh,

which is 48, into itself, and the product by the number of inches

there are in 50 feet, viz. 600; and divide the product by 1728, the

number of cubical inches in a cubic foot, which will give you the

solid measure of the tree.
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4)192(48 side

48

384
192

2304
600 inches in 50 feet

1728)1382400(800 the answer, being cubic feet

13824

000

Or, suppose a tree 54 feet long, and the one-fourth of the girth 60

inches—How many solid feet ?

^Hthe side multiplied by itself

216
270

2916
648 the inches in 54 feet

23328
11664
17496

Ft. In.

1728)1889568(1095 5i the answer.



The foregoing is for measuring round and square timber ; but it

may be supposed that a piece of wood or stone is broader than it is

thick. In that case, multiply the breadth by the thickness, and then

by the length. Suppose a plank of wood or stone to be 14 inches

thick, 18 inches broad^ and 20 feet long—How many solid feet?

14 thick

18 broad

252
240 the inches in 20 feet

10080
504

Cubicinchesinafoot 1728)60480(35 cubic or solid feet the answer.

5184

8640
8640
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6

6^

8

8^
9

91
10
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11

lU
12
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13
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14
l^
15

151
16
16i
17'

17^
18
18i

19

20

i3Ft.Lorj?
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